7890.C1.10E11.01

Spare Part ItemCode

OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumbhuriyet Mah.Hadimkoy Yolu Caddesi No:8 1Nolu Bagimsiz Bolum
Buyukcekmece Istanbul / TURKIYE VD: BuyukMukellefler VKN: 7080013433

Phone.: 00 90 212 8867800

OKFE 101 C CONVECTION COMBI STEAM OVEN, ELECTRIC, 10 GN 1/1

SPARE PART LIST
Item name.

Fax No: 00 90 212 8867809

Page 1
Version No: V18.10

Pictureld Price. Curr.

856.N10.00080008.P.10

FRITOZ YAG SIZDIRMAZLIK PULU BUKUMSUZ

6213.00001.10

M5x10 INOX PAN HEAD CROSS RECESSES SCREW

6213.00001.10

M5x10 INOX PAN HEAD CROSS RECESSES SCREW

6221.00001.040

CLAMP 40-60MM

6225.00004.000

M5x15 GALVANISED HEX FLANGE SCREW

6259.00003.10

CONNECTOR GRI PG 21 ORTAC

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6259.00003.10

CONNECTOR GRI PG 21 ORTAC

6213.00002.39

M5*10 stud bolt inox

6225.00004,111

M5x10 GALVANISED HEX FLANGE SCREW

6225.00004,115

M6x15 GALVANISED HEX FLANGE SCREW

6228.00020.,00

GASKET FOR CONVECTION OVEN FAN MOTOR LR-17/17*23,9*1,5/4,3 PTFE+S

2KI P.460.626000106.13

FLANGE FOR CONVECTION OVEN FAN MOTOR

865.N20.00700020.P.10

BULB FIXING PART FOR STATIC OVENS

890.220.01000115.7.15

KONVEKSIYONLU FIRIN TERMOSTAT SACI

6227.00010.13

HORTUM SILIKON Q38*IC Q28MM

6225.00004.000

M5x15 GALVANISED HEX FLANGE SCREW

6218.00001.19

RIVET 3*8 STAINLESS STEEL

865.N10.00700020.P.10

KUZINE FIRIN PROB BAGLANTI SACI P-L ISLENMIS

6226.00017.14

GENIS FIRIN KABIN REZISTANSI CONTASI 144MM*27MM

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6213.00002.39

M5*10 stud bolt inox

6214.00013.10

M6 nylon insert lock nut

6213.00002.39

M5*10 stud bolt inox

6221.00001.121

Hose clamp 20-32 mm

6214.00013.16

M5 nylon insert lock nut

6262.00021.71

HORTUM Q36 L 785 101-102 GENIS YIKAMA POMPASI ANA HORTUMU

KLP.460.01701525.01

KALIPHANE UR- GENIS FIRIN KABIN YIKAMA NOZUL

6221.00001,020

Clamp 12x20

6221.00001.120

CLAMP 25*42 MM

6262.00021.18 HOSE 1/2" WITH WRAPPED Resistant to 1250 heat/15 bar
6262.00021.18 HOSE 1/2" WITH WRAPPED Resistant to 1250 heat/15 bar
6262.00021.18 HOSE 1/2" WITH WRAPPED Resistant to 1250 heat/15 bar

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6225.00004.115

M6x15 GALVANISED HEX FLANGE SCREW

6221.00001.020

Clamp 12x20

6221.00001.040

CLAMP 40-60MM

6213.00002.39

M5*10 stud bolt inox

6214.00013.16

M5 nylon insert lock nut

6222.00006.34

TUMLESIK TAHLIYE VANASI SOMUN

6227.00010,13

HORTUM SILIKON Q38*IC Q28MM

6221.00001,121

Hose clamp 20-32 mm

6221.00001,121

Hose clamp 20-32 mm

6214.00013.16

M5 nylon insert lock nut

6225.00004.000

M5x15 GALVANISED HEX FLANGE SCREW

6225.00004 111

M5x10 GALVANISED HEX FLANGE SCREW

6221.00001.020

Clamp 12x20

6222.00006.37

TUMLESIK TAHLIYE VANASI BORUSU 101-102

6225.00004.000

M5x15 GALVANISED HEX FLANGE SCREW

9099.0BV06.7A

SENSIT METAL GROMET (TS 091A 1=67 pro TCK 094, Code: 930BV067A)

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6225.00004.013

CIVATA M5*30 FLANJLI GALVANIZ KAPLI

6222.00002.22

REDUCTION 3/4*1/2 BRASS

6222.00006.01

KURESEL VANA 1/2 KELEBEKLI KROM KAPLI

2KLP.460.626700009.17

KALIPHANE UR- VANA REKORU 1/2*M16*1,5

6225.00004,111

e e — =
M5x10 GALVANISED HEX FLANGE SCREW

6020.00003.07

SILICONE SEAL @10 FOR GAS FRYERS

6266.00020,22

ANTIBACTERIAL FILTER 170*170*7

2890.C20,00420010.7,06

202 GENIS ET PROBU KABLO TOPLAMA SACI

2KI P.460.62150010.9.01

KOMBI FIRIN YIKAMA NOZULU TEFLON PULU DIS CAP 22 IC CAP 12 KALINLIK 5 MM

6234.00003.24

CONTROL PANEL MK BOARD ELECTRIC OZT-KOMB-02 MK

6201.00020.07

CONVECTION OVEN DOOR TOP HINGE PART SS CASTING

6226.00011.21

SILICONE STOPPER FOR INNER GLASS DOOR

6213.00001.01

M4x10 INOX PAN HEAD CROSS RECESSES SCREW




7890.C1.10E11.01

OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumbhuriyet Mah.Hadimkoy Yolu Caddesi No:8 1Nolu Bagimsiz Bolum
Buyukcekmece Istanbul / TURKIYE VD: BuyukMukellefler VKN: 7080013433

Phone.: 00 90 212 8867800

OKFE 101 C CONVECTION COMBI STEAM OVEN, ELECTRIC, 10 GN 1/1

Fax No: 00 90 212 8867809

Page 2
Version No: V18.10

890.240.00480042.0.01

STANDART ADAPTE KONVEKSIYONLU FIRIN IC CAM SAGDAN KIVRIMLI HAREKETLI MENTESESI

2K1 P 460.626000106.08

CONVECTION OVEN GLASS HINGE PIN Q7,5*40 INOX

6232.00004.13

MAGNET NEODIUM 40*20*10 MM

890.240.00480040.1.02

STANDART ADAPTE KONVEKSIYONLU FIRIN IC CAM SABIT MENTESESI(3 DELIKLI)

8899.P1015.75

POWER T-9 FIRIN VE IZGARALAR IGIN YUKSEK PERFORMANSLI YAG COZUCU 0,75L

6252.00005.13

FAN COVER 8*8

6213.00001.10

M5x10 INOX PAN HEAD CROSS RECESSES SCREW

6213.00002.39

M5*10 stud bolt inox

6214.00013.16

-
M5 nylon insert lock nut

6213.00001.41

e — E—
M5*10 SS HEX BOLT WITH FLANGE

6226.00019.09

SILIKON SUNGER 3X10 MM YAPISKIANLI

6213.00002,39

M5*10 stud bolt inox

6213.00002.45

M5*12 TEK NOKTA INOX

6213.00002,39

M5*10 stud bolt inox

62140001310

M6 nylon insert lock nut

6225.00004.14

M8x15 GALVANISED HEX SCREW

&25 00004 000 M5x15 GALVANISED HEX FLANGE SCREW
w 00021.12 3/4" Water Inlet Hose
W 00015 070 FAN 80*80* 24MM 220V ADDA ( AA8252HS-AT ) 1
i2670000433 HOSE T 12MM BRASS 106
22340000509 WATERING BIN TEMPERATURE SENSOR K TYPE TCR-M 05-L047-K02.K M8" 118
22340000509 WATERING BIN TEMPERATURE SENSOR K TYPE TCR-M 05-L047-K02.K M8" 118
22010002009 CONVECTION OVEN BOTTOM HINGE SS CASTING 24,00,223 -61-101-102 121
6222.00006.33 DRAIN VALVE _ oo
9099.MVS21.000 CONTROLLI ACTUATOR 10 NM 230 V (MVS210) 123
0.03840343.Y.10 101-102 COMBI OVEN WASHER PUMP 125
9099.01. Y50.230 OLYMPIA PUMP 50 Hz 230V 126
50LY.MOTOR.00 OLYMPIA FAN MOTOR 0.6 KW 50Hz 127
w 00005.02 FAN MOTOR PROPELL @ 350 H:110 TWO SIDED STAINLESS 128
w 00015.160 FAN 12*12*3.8 230V ADDA 134
&34 00005 10 WATER TEMPERATURE SENSOR K TYPE ELECTRIC OVEN BOILER 1500MM TCMS-M01-L075-K1,5,K SI+SI 148
9099.P251E.00 Drain pump 158
9099 18000 RI RICA RESISTANCE 18000 WATT - COMBI OVEN BOILER TYPE (1GIL8EV21) 165
w34 00006 08 WATER LEVEL SENSOR K TYPE BOILER OZTI-WLS-03 173
909933690114 3-WAY SOLENOID VALVE WITH BITRON FLOWMETER (33690114) 185
890C1000720072F30 61-101-102-202 HEATER PIPE TOP TABLE 51 HOLE CLOSING FLANGE P-L MACHINED 196
90990145028 SENSIT THERMOCOUPLE (TCK 3091/B/260 3x TCK, 2m PTFE, 316/PEEK, 4A91F800014502B) 205
6234.00001.73 TOUCH PANEL_FRIN 01 HMI 211
179.13540.01B LABEL COMBI OZTIRYAKI - PAINTED 515
ﬁ2600001552C BUTTON M-ETAL 6 MM INSERT-CHROME PLATED 216
6234.00001.77 COMBI OVEN DOOR SENSOR MMS-301-3-3-0500 220
@60 00090.876 ETIKET KOMBI FIRIN YENI (VOLANLI DUGMEYE GORE) 291
w 00002.28 ROTARY BUTTON OZT-KOMB-ENB 204
w 00002.38 BUZZER GWEST AD116-22DSM AC/DC 24V 205
&34 00001.26 THERMOSTAT 365" LIMIT EGO 56 10572500 236
0234.00001.68 THERMOSTAT 170 C LIMIT ( FSTB WYF170G-ZS4) 237
6227.00007.14 HOSE SILICONE OD 61* ID 51MM 39
WO 10130525 4 10 101-102 WIDE CONTROL PANEL SHEET 401
&22 00015 67 OVEN HAND SHOWER 1600 MM 102 COMBI OVEN 402
890 Clo 00440020 7 30 101 COMBI OVEN IRRIGATION CABINET VENTILATION MAIN PIPE CONNECTION EAR P-L MACHINED 404
ﬁzoooz:[lg HOSE 1/2" WITH WRAPPED Resistant to 1250 heat/15 bar 405
h2:]_7021000860075:|_|:|_ COMBI OVEN LIQUID LEVEL SENSOR ASSEMBLY SHEET PLASTERED F-L MACHINED 406
22260001716 COMBI OVEN VENTILATION SILICONE GASKET 409
890.C20.07640960.3.08  61-101 ELECTRIC COMBI OVEN TOP COVER SHEET 210
890.C20.10250926.2.08 101 ELECTRIC COMBI OVEN BACK COVER SHEET 213
922600011330 OVEN SEAL WITH CON\E’ION 101 GENIS 754*468.5 _ 414
6269.00001.110 OVEN DOOR GLASS OKF 770*485*6MM 101 PRINTED INTERIOR GLASS COMBI OVEN 415
@69 00001.111 OVEN DOOR GLASS OKF 873*440.5*4MM 101 PRINTED EXTERIOR GLASS COMBI OVEN 416
mo 09910727.6.15 101 STANDARD ADAPTABLE DOOR EXTERIOR SHEET 417
&26 00025.03 CABLE TRANSITION Q INNER 22MM 420
&01 00020.06 CONVECTION OVEN DOOR BOTTOM HINGE STOPPER, SS CASTING 423
0 01460068 M.50 BODY TOP HINGE FOR COMBI OVEN DOOR 58
9303 02003 OO RAHRBACH-DOOR HANDLE LOCK TANGLE (6303-020030)-FOR OKF61-101-102 62
9099 1800T RI RICA RESISTANCE 18000 WATT -COMBI OVEN TURBO TYPE (1GIK3EV18) 69
5251 00004 98 40W SQUARE LAMP KIT 33880 G9 BA-FSSG VOSSLOH-SCHWABE 567068.01 CONVECTION OVEN LAMP 79
9303 02001 60 RAHRBACH-DOOR HANDLE (6303-020016)-FOR OKF61-101-102 88
62010002008 CONVECTION OVEN DOOR BOTTOM HINGE PART SS CASTING 95




OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumbhuriyet Mah.Hadimkoy Yolu Caddesi No:8 1Nolu Bagimsiz Bolum
Buyukcekmece Istanbul / TURKIYE VD: BuyukMukellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809
Page 3
7890.C1.10E11.01 OKFE 101 C CONVECTION COMBI STEAM OVEN, ELECTRIC, 10 GN 1/1 Version No: V18.10
KLP 460 04850017 01 MOLD MANUF.- CONVECTION OVEN DOOR TOP CNC BEING PIN 96

6260.00002.10 PIPE FEET 130-180MM TOP TABLE 90*100 1L.G10




7890.C1.10E11.01

DIKKAT; BU DOKCHANIN COGALTILMS, INTERNET ORTAMINDA DOLASTIRILHAS! VE BU CIZIMLER DOGRULTUSUNDA CRETEVAN YAPILASI OZTIRYAKILER FIRMESININ ONAYIILE OLABILIR TOM HAKLARIMIZ SAKLIDIR.

OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumbhuriyet Mah.Hadimkoy Yolu Caddesi No:8 1Nolu Bagimsiz Bolum
Buyukcekmece Istanbul / TURKIYE VD: BuyukMukellefler VKN: 7080013433

Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809

Page 4
Version No: V18.10

OKFE 101 C CONVECTION COMBI STEAM OVEN, ELECTRIC, 10 GN 1/1

/

4

98000

DETAIL A
SCALE 2+ 23

\ - - - \ "

MATERIAL

\

IMZATSIGN | T4

ZICOMPANY, ALL RIGHTS RESERVED.

CLILER i CNSIDEY

MINIE

DETAIL B
SCALE 2+ 25

b

~ ARGE/R&D
KONTROLLU KOPYA / CONTROLLED COPY

E
D

WARNING: IT IS APPROPRIATE TO MULTIPLY USE, DISPLAY AT COMPUTER, INTERNET AND PRODUCE THE PRODUCT WITHITS DRAWINGS WITH THE APPROV:




